viEh-la/ 1\
AM-1271

SECTION 2

DISASSEMBLY
2-1. CABINET AND LENS REMOVAL @t

wo lock screws %

®Open the control panel door

@Remove the upper board in the

* The lock screws cannot be removed direction of arrow

®two lock screws
@Remove the front panel by releasing

the catches at five locations .
location

location

® Remove the hood by releasing
the catches at two locations

@ four lock screws * .

vk

2-2. PICTURE TUBE REMOVAL @two terminal screws (M3 x 8)
@eight terminal screws (M3 x 8)

@ Open the ED block assembly

HIGH VOLTAGE CABLE REMOVAL
@ Pressing cable, Turn 90° |
@Pull out a high-tension lead

wire connected to HV BLOCK.

(D four terminal screws (M4 x 8)
®CB board

@picture tube neck assembly
®picture tube neck assembly

@ diflection yoke
Olens support

@ four flange nuts (M)

—117—



Yy iLr I J
RM-1271

2-3. POWER BLOCK REMOVAL (PA, K AND NB BOARDS)

@eight connectors (PA-1~4, 6~9)

PA-7
PA board @ %

®two terminal screws
(M3 x 8)

®plate stopper (B)w
€ |
"

B

@two junction connectors

@ terminal screw (M4 x 8)

@Pull out the switching regulator

®two lock screws (cannot be removed)

2-4. HIGH-VOLTAGE BLOCK ASSEMBLY REMOVAL ®@two screws
® screw (BVTP4 x 10) g‘/ (BVTP4 x 10)
N

I\.

@ Release the catches

at two ‘locations and
remove the PB board

location

@Pull out the HV blacket

@ loosen two terminal

@ screws (M3 x 8)
P

® high-voltage DC block assembly | %

—118—



=14l I
RM-1271

2-5. INTERFACE UNIT, BA, BC AND BB BOARDS REMOVAL

©@BA board

®BB board
@two screws (B3 x12)

@ shield plate

@ three terminal
screws (M3 x 8)

INTERFACE unit

®@two lock screws (cannot be removed)

® shield plate

®three terminal screws (M3 x8)

@ connector panel holder

Mthree terminal screws (M3 x 8)

—119—



yrn=i&4r i\
RM-1271

2-6. CFA, CFB, CA(RG) AND CA(B) BOARDS REMOVAL

@ seven terminal screws (M3 x 8)

@ connector (CFB-2)

@ Remove the shield cover

@ three terminal screws (M3 x 8) in the direction of arrow @

\

@CFA board

@ three terminal screws (M3 x 8)
® four screws (BVTP3 x 10)

®connector (CAB-T)

®nine connectors
(CAR-1~3, CAG-1~3, CAB-1~3)

?‘\I\(ﬂ)terminal screw (M3 x 8)
(?5 @ Remove the CA (B) board
™~

in the direction of arrow ®

® three pin cable
(CAG-J1, CAR-J1, CAB-J1)

/
No=in
Tl

< F——

@ Remove the CA (RG) board
in the direction of arrow® @

® connector (CAR-4)

®two screws(BVTP3 x 10) ‘

Ry,
@CFA board ‘ ‘

® connector (BM-8)

—120—



2-7. Y, DA, DB, DM, DD AND DE BOARDS REMOVAL

@ shield ol @ three screws (BVTP3 x 10)
shield plate ?/
‘ @three terminal screws (M3 x 8)

@®board holder

@ C shield case

®plate (Q)

®two screws —

@two screws (B3 x 12) (BVTP4 x 30)

@DE holder

@ screws (ITTP4 x 16)

®four screws
(ITTP4 x 18)
®Y board
® DA board
/@board holder @DB board
®three screws (ITTP4 x 16)
| ® shield case

@ Remove the DM board
in the direction of arrow

i B3 t&=i 1w
RM-1271

MDdust cover assembly

®DE board @DD board DM board
. DM8 - DM20 — D21
DMZ3' D24 nmgm—-— e D25
"/ ——
oMz o DM18 = DM
= S OV
— — "‘!]lu
DM31 DM10 \ s
DM22 l DM35
DM27
L 1] = J

@Dnineteen connectors
(DM6~11, DM18~25, DM27~29, DM31, 35)

—121—

F



I 11T 1l 1IN\X

RM-1271

2-8. M1, M2 AND M3A BOARDS REMOVAL

®case (B) assembly

@®three screws (PS3 x 6)\%

@ four connectors

CN252

M2 board

(CN151, CN252, CN254, CN255)\<
’ o o \

il CN254

(s @SIX screws (I S:; X “
@ our screws \%/

(M3 x8)
CN107  CN106 7 |

oN104 M&{cmoe @
oNS2 ? | 5‘

@seven connectors (CN103, CN104,
\CN106~CN108, CN111, CN52 (C1))

® four screws (M3_x 8)
@ four connectors
/o

P4
‘\#‘ @ four screws (M3 x 8)

(Y

®M3A board

—122—



vreEr=idcl I\«
RM-1271

2-9. ATTACHMENT DIRECTION OF THE DC FAN

EXHAUST FAN

INTAKE FAN
PS3x 16

BVTP4 x 30

—123—



vrn=isr i\
RM-1271

—124—



